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Field: co6; Feed-feed variable: wint; Other splits: cesc 1
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Field: co6; Feed-feed variable: wind; Other splits: cesc 1
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Field: co6; Feed-feed variable: wind; Other splits: cesc 0
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Field: co6; Feed-feed variable: sidr; Other splits: cesc 1
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Field: co6; Feed-feed variable: sidr; Other splits: cesc 0
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Field: co6; Feed-feed variable: rise; Other splits: cesc 0
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Field: co6; Feed-feed variable: elev; Other splits: cesc 0
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Field: co6; Feed-feed variable: dayn; Other splits: cesc 1
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Field: co6; Feed-feed variable: ambt; Other splits: cesc 1
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Field: co6; Feed-feed variable: ambt; Other splits: cesc O
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